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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 1161 3.8 2 6 63.4 99.7
2 1163 6 2.2 12 49.6 99.9
3 1157 3.8 2 8 48.1 99.4
4 1162 4.5 2.7 12 37.6 99.8
5 1153 6.4 3.1 14 45.7 99.0
6 1095 3.3 2.1 8 40.7 94.1
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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Q2 (a) Using a supply and demand diagram(s), explain why it might be that doctors 
have higher average weekly earnings than nurses. [8] 
 


Band AO1  AO2  AO3 
2 marks 4 marks 2 marks 


 
Is the diagram correct? Has the context and 


data been well used to 
explain differentials? 


Has the difference been 
explained clearly in 
theoretical terms? 


2 


2 marks 
Good understanding of supply 
and demand diagrams 
Correct diagram with supply of 
doctors to the left of/more 
inelastic than that of nurses 
and the demand for doctors to 
the right of that of nurses. If 
two diagrams are used, the 
relative supply and demand 
differences must be clear. 
Equilibrium wages marked in 
correctly. 


3-4 marks 
Good, developed 
understanding of the 
context of doctors and 
nurses. 
Two appropriate factors 
influencing the supply 
and demand for 
doctors are identified 
and explained, or one 
factor is developed 
very thoroughly 
showing excellent 
contextualisation (eg 
use of table). Does not 
have to cover both 
supply and demand. 
 


2 marks 
Good analysis of wage 
differentials 
 
The answer explains 
clearly how supply and 
demand factors interact 
to make the wages of 
doctors higher than those 
of nurses – applied 
factors are fully analysed 
in the diagram. Does not 
have to cover both 
supply and demand. 


1 


1 mark 
Limited understanding of 
supply and demand diagrams 
If only supply or demand dealt 
with (1) or both S and D are 
right but equilibrium wage is 
not marked in. 
Two diagrams are used but 
either demand or supply are 
not clearly lower/more 
inelastic/higher as appropriate. 


1-2 marks 
Limited application to 
the context 
Only one factor is 
developed, or two 
factors are identified 
but not explained. Does 
not have to cover both 
supply and demand. 
 
Or factors are not 
identified, but use is 
made of the actual 
table for 1 or perhaps 2 
marks if well integrated. 
 


1 mark 
Limited analysis of wage 
differentials 
Some explanation is 
present, but perhaps only 
one factor is linked back 
to wages in only limited 
amounts of detail, or the 
diagram is really just 
asserted rather than 
explained. 
Or supply and demand 
factors are analysed to 
explain wage differentials 
but without reference to 
the diagram. 


0 
0 marks 


Only one factor/equilibrium not 
marked in. 


0 marks 
Application to context 
too weak to be 
credited. 


0 marks 
No valid explanation. 


 


 
AO1 and AO3 are centred around how well the diagram has been analysed and AO2 is 
about the context of doctors and nurses and using the data provided. 
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Indicative content 
 
Supply of doctors at a given wage rate is likely to be lower than the supply of nurses 
because of the length and costs of training, qualifications required, restricted number of 
places at medical school etc. 
 
Demand for doctors at a given wage rate is likely to be higher than for nurses because they 
have greater training and are therefore potentially more versatile within the workplace. 
Hence demand will be higher at a given wage rate.  
 
Perception of doctors being more ‘valuable’ at some level than nurses, being the ones who 
‘cure’ ailments. 
 
Therefore with lower supply and greater demand, wages will be higher. 
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Sticky Note

Diagram is worth 2 marks



Sticky Note

This is applied to the context - AO2.



Sticky Note

This links the diagram to the application - diagram is embedded and explained with some more use of the data. AO2 and 3.



Sticky Note

Valid AO2



Sticky Note

Not really applied to the context.



Sticky Note

Overall, this is a decent response to the question. The diagram reflects both demand and supply side factors, so is worth 2. The AO2 doesn't really consider demand otehr than in passing, so is low band 2 (3 marks). Likewise, the diagram is used but not convicingly, so 1 for AO3. Total 6/8.












Q2a: 5



Sticky Note

Answer deals only with demand rather than supply and demand and is therefore in band 1 for AO1.



Sticky Note

Excellent section here - refers to inelastic and low supply, in context and uses the data directly. Already in band 2 for AO2



Sticky Note

Some analysis here, so band 1 AO3



simon.harrison

Sticky Note

This is repetition really.



Sticky Note

This is AO1: 1 (only one factor on the diagram), AO2: 3 (good application, but needed a bit more for 4) and AO3: 1 - needed more direct reference to diagram for more.












Q2a: 3



simon.harrison

Sticky Note

Diagrams are worth AO1: 2, just - we can infer that the higher demand and lower supply are for doctors, because that's what the questions asked about, but it is marginal.



Sticky Note

Some reference to the data in a passing sense. Using numbers would have been better.



Sticky Note

This isn't necessarily true and some of it just repeats their earlier assertion. so AO2: 1



Sticky Note

There is no explanation of why wages are higher as a result of the factors identified (no diagram references or mention of shortages), so there is no AO3
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Examiner
only


2.	 The table below shows the mean and median weekly earnings for selected workers in the health 
sector:


© WJEC CBAC Ltd.


Total employees Median weekly pay Mean weekly pay


Medical practitioners (Doctors) 242 000 £1038 £1203


Nursing professionals (Nurses) 844 000 £533 £522


	 (a)	 Using a supply and demand diagram(s), explain why it might be that doctors have higher 
average weekly earnings than nurses.	 [8]


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	


Source: ONS
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Q3 Discuss the extent to which web sites such as raileasy.co.uk might help to correct 


market failure in this case. [8] 
 


Band 


AO1  AO2  AO4 
Is market 
failure well 
understood? 


Has the context been well used 
to illustrate how market failure 
might be corrected? 


Has there been qualification of the 
extent to which market failure might 
be corrected? 


2 marks 4 marks 2 marks 


2 


2 marks 
Good 
knowledge of 
market failure 
demonstrated. 
 


3-4 marks 
Good application to the context. 
Good use of the context to 
show why market failure might 
be corrected; strong application 
to information failure/other 
market issues. Answers in this 
band will explain how improved 
information for rail passengers 
will lead to a better market 
outcome 
Or 
There is a clear and convincing 
case made that this will make 
very little difference to the 
outcome in the market and will 
not really help to correct market 
failure at all or may create new, 
worse misallocations. 


2 marks 
Good evaluation. 
A strong two sided answer. 
 
Clear evaluation of the idea that 
better information will correct the 
market failure in this case – eg just 
because people have information 
doesn’t mean that they will act on it.  
 
Or 
The answer evaluates the idea that 
the websites won’t work by explaining 
clearly that under some 
circumstances the market failure 
might be corrected – clear but brief 
explanation of how improved 
information might help in this regard. 


1 


1 mark 
Limited 
knowledge of 
market failure 
demonstrated. 
 


1-2  marks 
Limited application to market 
failure in the data showing 
partial application of information 
failure. Answer applies to the 
context, but is unconvincing in 
its link back to market failure. 
 
Or 
There is a reasonable case 
made that the websites will not 
really make very much 
difference, but points are not 
fully developed or explained. 


1 mark 
Limited evaluation 
Answer has two sides, but the 
evaluation is limited. 
 
Partial evaluation of the subject 
matter – ideas are valid but not 
developed/explained properly. 
 
Or 
The answer evaluates the idea that 
the websites won’t work by arguing 
that they might help a bit, but the 
answer is not well rooted in the idea 
of market failure being corrected, 
probably being more along the lines 
of it might help better decisions. 


0 


0 marks 
Knowledge of 
market failure 
shown is too 
limited to 
credit. 


0 marks 
No developed use of the data. 


0 marks 
No valid evaluation present. 
 


 
  



http://www.raileasy.co.uk/
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A one sided answer can therefore score no more than 6 marks (2 for a good understanding 
of market failure and 4 for a well applied illustration as to how market failure might or might 
not be corrected.  
 
AO2 and 4 are reversible so whichever side of the answer is best applied is AO2 and the 
counterargument is AO4. Many strong answers argue that it won’t really work more 
effectively – allow up to 4 for this as AO2. 
 
Indicative content: 
 
AO1: 
 


• Market failure is a situation in which an unregulated market misallocates resources, 
resulting in an overall welfare loss relative to the maximum possible.  


• The market mechanism fails to produce an efficient allocation of resources, resulting 
in a welfare loss. 


Good understanding will include both the idea of resource misallocation and welfare loss 
(which may be implicit – consumers paying unnecessarily high prices). 
 
AO2: 
The key is that application needs to be linked to the context of the increased information. 
They answer doesn’t have to talk about information asymmetry, but it does need to be 
rooted in the idea that because consumers can now access cheaper tickets, some different 
types of market failure might (or might not) be corrected. 
 


• Passengers are paying too high a price for tickets because they are unaware of 
cheaper deals. Because prices are too high, fewer people are travelling on trains 
than might otherwise be the case, meaning that there is an overall welfare loss. This 
may well be linked to external costs from car use, therefore if prices can be reduced, 
external costs from car use might be reduced. 


• Consumers are losing welfare by paying higher prices than they need to; this may 
drive up inequality as the impact on low income groups is greater (although they 
might not be regular train users) 


• Rail passengers do not have full information on ticket prices and thus often overpay. 
Web sites such as raileasy.co.uk give rail passengers more complete information. 
Without these web sites there is asymmetry of information. 


 
AO4: 
The evaluation needs to be centred around the context – in other words the website and 
what that offers. 


• Unlikely to cover all types of fares – not everywhere will have a possible split ticket 
and even if they do, savings won’t be made in all cases, therefore only a small 
number of routes might be covered. 


• Requires people to buy tickets in advance – not everyone is that organised. 
• People need to know about the website – information problems may get in the way 


here as well. 
• Just because people know that they might be able to save money doesn’t mean that 


they will be bothered to act. 
• People may be worried about the legality of the scheme, thinking that it is too good to 


be true and therefore not use it. 
• These types of websites often transitory, therefore consumers may not know they 


exist and/or their lack of permanency make consumers less confident in using them. 
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Decent understanding of market failure shown - good AO1



This is reasonable application to the context. There is some understanding shown of the problem and how raileasy might help to deal with it, but the application lacks depth, which leaves it in band 1.



There is no counter-argument present - the candidate has not ‘discussed the extent’ which means that there is no A)4. This leaves the answer with a total of AO1: 2 and AO2: 2 for 4 in total.












Answer shows good understanding of market failure - AO1 band 2.



Well applied to the context - good understanding of the problem in this scenario is shown - AO2 band 1.



Taking this section as a whole, they have applied really well to the context, identified the problem and shown clearly how it can be resolved. AO2 band 2.



Lots of good counterargument here; clearly understands that it might not always work in context. AO4 band 2.

Overall, this is worth full marks. There are, no doubt, more points that can be added, but, this is an excellent answer in the time available
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Examiner
only


3.	 Read the article below and answer the question that follows.


	 Rail users are being offered help to save money thanks to new websites which find cut-price 
fares normally hidden from the travelling public by train operating companies.


	 Websites such as raileasy.co.uk use computer code to help passengers buy cheaper “split 
tickets” in advance, where they can break their journey into sections instead of buying one ticket 
for the whole journey. This results in a lower overall fare whilst still travelling on the same train.


	 Discuss the extent to which websites such as raileasy.co.uk might help to correct market failure 
in this case.	 [8]
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Q4 (b) Using an Aggregate Demand and Aggregate Supply diagram, explain the 


reasons for the trends shown in the chart between 2011 and 2014. [8] 


Band 


AO1  AO2  AO3 
Is the diagram correct? Are the factors in the 


data applied to the 
diagram? 


Are the reasons for falling 
inflation/changes in AD/AS 
well analysed? 


2 marks 2 marks 4 marks 


2 


2 marks 
Good understanding of 
AD/AS diagrams. 
Correct diagram 
showing AD shifting to 
the left (or shifting to 
the right more slowly 
than it might otherwise 
have done) and AS 
shifting downwards, 
hence leading to a 
lower level of 
equilibrium prices than 
would otherwise have 
been the case. 


2 marks 
Good application to the 
context. 
Answer explains how the 
factors identified match 
the AD/AS diagram – the 
diagram is applied 
appropriately to this 
context. 
 
1 mark for linking 
economic 
weakness/Chinese 
slowdown to AD (or 
arguably to AS if the link 
is made to falling 
commodity prices).  
1 mark for linking falling 
oil prices to the shift in 
AS. 
 
 


3-4 marks 
Good analysis. 
There is a good analysis of 
what stops prices rising in 
the real world and the 
answer deals with both 
slowing demand and falling 
costs. 
  
Bottom band answers will 
tend to have one developed 
factor and one less 
developed one (even if both 
factors aren’t shown on the 
diagram) and do not relate to 
inflation in the real world. 
 
All answers in this band 
are in the context of the 
case. 
 
 


1 


1 mark 
Limited understanding 
of AD/AS. 
Only one shift is 
correctly shown, or 
both shifts are shown 
but there are very 
major weaknesses with 
the diagram. 


1 mark 
Limited application to the 
context. 
One factor is identified 
and linked appropriately 
to the diagram. 
 


1-2 marks 
Limited analysis of relevant 
factors. 
Analysis of one AD/AS factor 
(in depth = 2, 
superficially=1).  
Answer analyses the 
reasons for shifts in AD/AS 
(rather than just asserting 
them), but the link to inflation 
is asserted rather than 
explained. 
Or 
Two factors are dealt with 
superficially. 
 


0 
0 marks 


Poor understanding of 
AD/AS. 
Diagram is incorrect. 


0 marks 
Poor use of context. 


0 marks 
Diagram only, no reasoned 
argument – fall in inflation is 
asserted not explained. 
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AO1 = diagram: 1 mark for dealing appropriately with AD and 1 mark for dealing 
appropriately with AS. 
 
Doing only one of these is therefore limited understanding. 
 
 
Indicative content: 
 
Slower economic growth globally restricts demand for firms’ products, therefore making it 
harder to increase prices/forcing them to reduce price to stay competitive. Demand pull 
inflation will be reduced. 
 
Falling oil prices reduce production costs for many firms, therefore meaning that prices do 
not have to be increased or can be reduced, particularly important in a world where demand 
is slowing. Cost push inflation will be reduced. 
 
 
Possible diagrams: 
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Appropriate diagram with both shifts identified and no major labelling errors. AO1 band 2.



Economic weakness identified and applied: AO2 band 1.







Falling oil prices identified and applied: AO2: band 2.



The analysis of how the factors combine to reduce inflation is unconvincing. There is nothing about why prices will be rising more slowly and this section is little more than a restatement of the diagram which has already been credited. Hence AO3 band 1, low end.



In total, this gives an overall mark of AO1: 2, AO2: 2 and AO3: 1 for 5












Appropriate diagram showing AS shifting to the right and AD shifting to the left (allowed on mark scheme)







Well applied to economic weakness and some good analysis in this paragraph. AO2 band 1 (for economic weakness) and AO3 band 1 for developed understanding of the impact of an economic slowdown (but not really related to the issue of inflation, hence not band 2).



This section adds nothing to the analysis - we still don’t really know why inflation is falling, but they have included a section on falling oil prices, which puts the AO2 into band 2.



In total - appropriate diagram AO1: 2, Good use of context AO2: 2, and limited analysis of AD/AS rather than inflation which is AO3: 2, for a total of 6
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Examiner


only
4.	 Study the information below and then answer the questions that follow.
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	 Inflation rates around the world have been falling over the last three years. Widespread economic 
weakness in rich economies and a slowdown in Chinese economic growth caused the initial 
decline. More recently falling oil prices have helped to reduce inflation further.


	 (b)	 Using an Aggregate Demand and Aggregate Supply diagram, explain the reasons for the 
trends shown in the chart between 2011 and 2014.	 [8]
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